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GENERAL STUDIES (PAPER-III)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
ALL questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized
one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

Word limit in questions should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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. A AYAG B R AR S yra § awg @ da W (o wHo Ho) F wfldferd fru u ¥ wra
e 2017 ¥ Brnf=a Sfto who Fo F ywwa Pfgadl w o fopht Hiftw)

(IW 150 w=a1 # Eifow)

Enumerate the indirect taxes which have been subsumed in the Goods and Services
Tax (GST) in India. Also, comment on the revenue implications of the GST
introduced in India since July 2017. (Answer in 150 words)

. F AT W HG 4 Hend & 6 el W IR (e Do o) A wurht wgfe qun frm grehifa ¥
FRO IR sefeaen =l Rufa # 27 o abl % wwdA § FRo i

(IW 150 w1 # i)

Do you agree with the view that steady GDP growth and low inflation have left the
Indian economy in good shape? Give reasons in support of your arguments.

(Answer in 150 words)

. THIFd FH Yl (3o Tho THo) fFW dHim 9% F I # wuia w1 ¥ wEww 27
(3W 150 W=t # ifo)

How far is Integrated Farming System (IFS) helpful in sustaining agricultural
production? (Answer in 150 words)

. Sa-uirafaa & A FR I § 3fg +0 i se-fves a1 afiar o

EAE| (IW 150 w=at # i)
Elaborate the impact of National Watershed Project in increasing agricultural
production from water-stressed areas. (Answer in 150 words)

. 9 it oin F-faam % & | e W e e 3 ge We wHe w@rfiiua ¥ ARl |
wid 1 fFe wwr @ ggen @t (3 150 w=E # i)

How was India benefitted from the contributions of Sir M. Visvesvaraya and
Dr. M. S. Swaminathan in the fields of water engineering and agricultural science
respectively? (Answer in 150 words)

HId I 9T A F FARE Fx W HE ) F91 deEn 3 wER iafE FEEY # 9 R uen

o g (3W 150 wr=E1 # i)
What is India’s plan to have its own space station and how will it benefit our space
programme? (Answer in 150 words)

. @21 |le] G, 918 98 A9 B 1 AW A, TR 4G F W G 92 Tai § ¥ T )| IR a2
TR R A G % 99 F, e el w1 geen g, e fif

(I® 150 w=a1 # @fvm)
Coastal sand mining, whether legal or illegal, poses one of the biggest threats to our

environment. Analyze the impact of sand mining along the Indian coasts, citing
specific examples. (Answer in 150 words)
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11.

12.

13.

14.

el J9E1 SR AT % fon 6% @@ # ofnfia w0 ¥ o Soar @ sraevas o 2 e
F vfa Y@ #1 fFa yeR v fBR-f o9 % @9 fa-fem fr s awa 27 st ¥ ded §
Yaa & fafim il w == fifsg (I 150 w=at # difs)

Vulnerability is an essential element for defining disaster impacts and its threat to
people. How and in what ways can vulnerability to disasters be characterized?
Discuss different types of vulnerability with reference to disasters.

(Answer in 150 words)

. 9 S HIR H TEa-u-geerht W OaEd o W AT wedl 1 el agen 8 qf-3aR

FEFAA (e Mo Tago) i it WM w1 F5 91 7 | U () WA At § SdEward
wTEAl I wEEdl UgEH # fi-3aR FEsais g v w1 @ sffen w1 whsm fifsg gfi-son
FEFqis & v B Frenfim w0 F @ i == fifwg (I 150 wr=a1 & difvm)

The banning of ‘Jamaat-e-Islami’ in Jammu and Kashmir brought into focus the
role of over-ground workers (OGWSs) in assisting terrorist organizations. Examine
the role played by OGWs in assisting terrorist organizations in insurgency affected
areas. Discuss measures to neutralize influence of OGWs.

(Answer in 150 words)

wgatEW i@ w87 e fifve fF wra § feeie smodl ) Rafia w9 8§ 9 e yer suEnh

B wHA 2l (3W 150 w=a1 # 4fsm)
What is CyberDome Project? Explain how it can be useful in controlling internet
crimes in India. (Answer in 150 words)

Tz % T s R T wwavfi gafe 1 wrffa =1 sme vy gumafia ok grofra * st =
yw fF S 81 38 WA W et Hifsm) (3| 250 w=at | df)
It is argued that the strategy of inclusive growth is intended to meet the objectives of

inclusiveness and sustainability together. Comment on this statement.
(Answer in 250 words)

IR-FEMF HAY & W, awe Pl & Hed #, A% 9 YEUA ARG SR % GO T g R
W W AR (3 250 wr=31 7 i)

The public expenditure management is a challenge to the Government of India in
the context of budget making during the post-liberalization period. Clarify it.
(Answer in 250 words)

e Far woneft it sfte gl R ¥ SR BRI FH-FH A U $9H 331C T §7

(I 250 w=a1 & difom)
What are the reformative steps taken by the Government to make food grain
distribution system more effective? (Answer in 250 words)

G TEER g9 Y Il F amaE ¥g wwa wER g v Ay ) afrar we fif

(I 250 w=a1 & Aifsw)
Elaborate the policy taken by the Government of India to meet the challenges of the
food processing sector. (Answer in 250 words)
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15.

16.

: y o8

18.

19.

20.

s e % T SR ¥ TR T A ¥ Y A R e T B

(3® 250 7=t # i)
How is the Government of India protecting traditional knowledge of medicine from
patenting by pharmaceutical companies? (Answer in 250 words)

faEl % a7 TEl F 39 FW F fou da Deifeh e yER gEEda woaEd 87
(3 250 =21 # difow)

How can biotechnology help to improve the living standards of farmers?
(Answer in 250 words)

ot A et TRffaE o3 ) 984 aua $ geea 1 i ) s Hifse fF o F
Ftpart fwm (T¥ae WAqie) F A9 T G 76 GHo ) GHE R TR TeEy )

(I 250 w=at # i)

Define the concept of carrying capacity of an ecosystem as relevant to an
environment. Explain how understanding this concept is vital while planning for
sustainable development of a region. (Answer in 250 words)

fedt ot sT9ET yeue THE B E FAT UEel HEW Al # | JEEeH! & ame #, Te fif 6 g
A8 T R TR e SedERe # weg | (IW 250 =t § i)

Disaster preparedness is the first step in any disaster management process. Explain
how hazard zonation mapping will help disaster mitigation in the case of landslides.
(Answer in 250 words)

ya EER 3 e @ § ffufeg e (Farw) sfufem (3o wo o wo), 1967 3R
o 3o To UMW F HILH F g AFHFAR-UR FFE FI Wolga H e | AHATUFR Hrel
T fafufireg framem (Farw) sfufem w1 Ry w0 % faar ol sron ® ==1 F@ 79 T99H1
g aRam F e #, uRaddl #1 favemw fifse) (3W 250 WAl # i)
Indian Government has recently strengthened the anti-terrorism laws by amending
the Unlawful Activities (Prevention) Act (UAPA), 1967 and the NIA Act. Analyze the
changes in the context of prevailing security environment while discussing the

scope and reasons for opposing the UAPA by human rights organizations.
(Answer in 250 words)

Ter-qdf WA FuvetEt 1 de % R s, gm A gl % aea eee e gt |
A ¥ TF ¥ WRE-HER €M F SRR adqH § HRy 8 T fafim gt w oadee St
e # Al w1 ity A % weE | == i) (IW 250 =Rt & Afsm)

Cross-border movement of insurgents is only one of the several security challenges
facing the policing of the border in North-East India. Examine the various
challenges currently emanating across the India-Myanmar border. Also, discuss the
steps to counter the challenges. (Answer in 250 words)
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